PHYSIOLOGY QUIZ 6 2007
1. Excess secretion of which of the following will increase the possibility of causing diabetes mellitus ?

A. HGH

B. TSH

C. TSI

D. Somatomedins

E. All of the above

2. Thyrocalcitonin:

A. Is secreted by cells within the adrenal gland.

B. Increases plasma Ca++ concentrations.

C. Is an important regulator of human plasma Ca++ concentrations.

D. Is not an important regulator of human plasma Ca++ concentrations.

3. PRL is normally ____?____by the presence (sight, sound or smell) of an infant.

A. Inhibited

B. Stimulated

C. Not affected in any way

4. The actions of calcitriol and PTH are different with respect to:

A. PTH increases renal Ca++ reabsorption, calcitriol doesn’t.

B. Calcitriol increases intestinal Ca++ absorption, PTH has no direct or indirect effect.

C. PTH inhibits renal phosphate reabsorption, calcitriol increases renal phosphate reabsorption.

D. Calcitriol decreases renal phosphate reabsorption, PTH increases renal phosphate reabsorption.
